M= & B 2] S8 ]
Ho41(g)21 20234 68 302 &M
&)l 20224 6E€ 30 M
S-2E2SdESHUSE (el &)
HIU= R 41(€)2 Al 40(H )7 AZu= A 41(E)2I M 40(& )|

. Akt 26,018,953, 481 21,752,205,083 RS2 35,095,961,923 26,862,912,765

. B3 1,263,400,687 ,399,828,378 A2 358,450,368 256,457,098

SIS A CHASAL MY S 677,494,091 603,089,623

. AYES 7,380,929,479 ,630,854, 165 Hd== 4,952,226, 143 2,047,704,123

(HEs<3) 336,466,876 336,466,876 FAxME+==

(BTHOHXIE QIR S) =EYSAL+S 15,130,000 36,310,000
4. THO X4 1,583,028,438 , 169,592,174 SILXIAI0 =3 90,657,484 105,248,893

(THD XHAHE Db = Al S H ) EIIXte = 23,178,000,000 20,700,000,000
5. MENEFEFHSHE 271,683,503 300,968,838 HeESUE)

(AISBIETHAUESEZS) 29,711,547 37,707,172| 8. OIXISHIE 3,360,767,575 1,287,847,614
6. AS+=+AHE 40,592,941 45,824,200| 9. === 882,915,871 949,754,564
7. A4S Atat 6,685,492,278 ,202,194,995| 10. DIXIZ23 480,058,055 468,972,462

(MESXHAEATESHH) (BTHOLXIgel Rt =)

(2ot 2= ) OXstHE= 2,289,730 23,572,314

=EAH 0= Ol == 111,109,920 86,718,910

Hes 5,619,852,611 , 149,859,348 FEA 0=

=20 E3 . FIEAU=S
P PIPNP Fak=4 104,060,611 100,534,998 &0+
S=gelAl = A Al 38,584,470 31,922,600

. OlZ==9 3,153,343, 106 ,823,347,574 Ol X =g el Al

. H3HE 323,560,990 330,675,296 . AsS=AHE 2,700,000 57,916

. O3 31,090,440 36,302,511 . HelE=d=

STHOLXIE IR Z) . =00els 617,818,180 62,385,370

PG, FNSHEAXENS

. §StEAE L daZel s

. tielol=0xl= XNZ2AHE 102,348,680 102,486,360

. telsEs MEINEZESNESHN 604,538 2,608,000

SHIISENENEHEIIZ Eti2tE =T 2

23 4,821,319 3,814,823 OINEStEEES 153,314,000
EIEItSEA DX SA=2EHE

. B E S &= 71,492,818 97,776,918

. JIEF G 2 AL A 2 liel k=

(HEsg3) 83,118,169 68,118,169 Il . =S l+= 194,870,826,297 179,302,772,027

(BITHOIXIE QIR Z) . 2FSlss 21,788,992,768 23,434,647,904
25. ZXM(OIXZE2) 6,393,670 700,000| 2. M=EH0U=+== 172,888,833,930 155,541,392,775

(JIEFRHAHE AT E S H ) . AREES 192,999,599 326,731,348
26. 3E= =892 99,948,426, 826 66,908,279,923
. 28Y0x=3 72,015,689,370 59,676,630, 384 SECR=1=PNI=PNRSTEE ]

1. HUHUXI= 72,015,689,370 59,676,630, 384 STHOIXIEOIX )

2. H2AMX= NS s 99,798,291,400 66,695,927,400
3. 2ASt0IXI= SHAE S

4. JIEtOIXI= QA x LS 150, 135,426 212,352,523

. =>sgUEMA 225,998,030, 110 191,310,995,132| 5. JIEtXtE S
1. d=3shslES 134,094,031, 151 131,043,109, 337 EEYLXAS

(HEsL3) 5,747,363,327 5,099,294, 134 SN, sHS2=FALEM

(B THOLXIE QIR S) SHOIXS3

3RS UHES 99,803,621,400 66,695,927,400 SHEEHU+3

(HEs<3) 2,152,259, 114 1,328,747,471 sHEEg s
3. JIEtHES sH=S280X=3

(HEsg3) HeS2 324,850, 126 159,856,080
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